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Democrats’ strongest opponent (virtually always a Republican). Each point is an average of the indicator
variable for running in and winning election tþ 1 for each interval, which is 0.005 wide. To the left of the
dashed vertical line, the Democratic candidate lost election t; to the right, the Democrat won.

As apparent from the figure, there is a striking discontinuous jump, right at the 0 point. Democrats who
barely win an election are much more likely to run for office and succeed in the next election, compared to
Democrats who barely lose. The causal effect is enormous: about 0.45 in probability. Nowhere else is a jump
apparent, as there is a well-behaved, smooth relationship between the two variables, except at the threshold
that determines victory or defeat.

Figs. 3a–5a present analogous pictures for the three other electoral outcomes: whether or not the Democrat
remains the nominee for the party in election tþ 1, the vote share for the Democratic party in the district in
election tþ 1, and whether or not the Democratic party wins the seat in election tþ 1. All figures exhibit
significant jumps at the threshold. They imply that for the individual Democratic candidate, the causal effect
of winning an election on remaining the party’s nominee in the next election is about 0.40 in probability. The
incumbency advantage for the Democratic party appears to be about 7% or 8% of the vote share. In terms of
the probability that the Democratic party wins the seat in the next election, the effect is about 0.35.
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Fig. 2. (a) Candidate’s probability of winning election tþ 1, by margin of victory in election t: local averages and parametric fit. (b)

Candidate’s accumulated number of past election victories, by margin of victory in election t: local averages and parametric fit.
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